Moto-All.ru

CIIMCOK JOETAJIEY [IJ14 "DRIVE AXLE AND TRACK" BRP YETI TUV V-1300

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75
29\5

17NM0619



CITMCOK OETAJIEY NIJ1d "DRIVE AXLE AND TRACK" BRP YETI TUV V-1300

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 605250539 CpoK IoCTaBKY OT 35 gHEH Drive axle ass'y. Includes 1 to 4

2 605249455 CpOK IIOCTaBKH 0T 25 gHEH ARBRE ENTRAL *DRIVE AXLE

3 414931800 CpOK IIOCTaBKH 0T 25 gHEH BARBOTIN 8D *SPROCKET 8TH

4 415067400 CpoK moCTaBKH OT 25 mHeH DEMI-BARBOT.8D.*HALF-SPROCK.8TH.
5 371910200 CpoK mOCTaBKH OT 25 gHe# CIRCLIP *CIRCLIP

6 504152009 Cpok nocTaBKu 0T 19 nHel Bearing

7 501017400 Cpok 1ocTaBKH 0T 25 fHel gggié%%l_ffMENT *BEARING

8 414484400 CpOK ITOCTaBK# OT 25 gHel O-RING

9 5446641 CpoK mocTaBK# 0T 35 gHen Washer

10 13070 CpoK IOCTaBKH OT 25 OHel CHENILLETRACK-ASSY20X156X1.25
11 5318323 Cpok nocTaBku 0T 35 gHel Guide

12 5318322 Cpok mocTaBku oT 19 gHei Slide guide

13 504151860 Cpok mocTasKu ot 25 et o ROUL "HOUSING:

14 501025000 CpOK IIOCTaBKH 0T 25 gHEH FLASQUE *FLANGE

15 504152173 CpOK IIOCTaBKH 0T 25 gHEH CAPTEUR VITESSE*SPEED SENSOR
16 504152040 Cpok mocrasku ot 25 et e R MAGNADAFTOR

17 413711500 Cpok mocTaBku 0T 19 gHei GRAISE SYNTHETT*GREASE-SYNTHE.
18 33201 Cpok mmocTaBku oT 19 gHeit Elastic flanged nut M8

19 418763 Cpok mocTaBKH 0T 25 fHel KEY (1=25PCS

20 293800070 CpOK ITOCTaBKY OT 25 gHeH LOCT-ANTISEIZE

21 40299 Cpok nocTaBku oT 19 nHeit Hex, screw M8 x 110

22 20072 Cpok noctaBku 0T 35 gHel IlmacTrHA 3aMKa

23 33011 Cpok nocraBku oT 19 gHel Nut elastic M8

24 605453927 Cpok nocrtaBku 0T 35 gHel CLIP *CABLE SUPPORT

25 40291 Cpok noctaBku oT 19 nueit Hex. screw M8 x 110

26 605450155 CpOK II0CTaBKH OT 25 gHEeH DOUILLE *SPACER

27 506151140 CpOK IIOCTaBKH 0T 25 gHeH JOINT TORIQUE *O-RING

28 605351366 CpOK IIOCTaBKH 0T 25 gHEH BARRE CONNEX. *CONNECTING BAR
29 28247 CpoK IOCTaBKH OT 25 OHeH BALL GRIP

30 605350153 CpOK IIOCTaBKH 0T 25 gHEeH BRAS CHAN.VIT.*SHIFT HANDLE

31 41007 CpoK mOCTaBKH OT 25 mHeH SPRING PIN 5 X 24 DIN 1481

32 605454017 CpoK mOCTaBKH OT 25 gHeH ROUE DENTEE *OFF-CENTER GEAR




